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1. Personnel specialist, Steve Satterfield, is assessing a new supervisor's ability
to follow company standards for evaluating employees.  Steve has the new
supervisor rate five hypothetical employees on a scale of one to ten.  He is
interested in how the new supervisor's ratings correlate with company norms

for these benchmark cases.

Employee
1 2 3 4 5
New Supervisor 8 8 | 9 7

Company Norm* | 8 6 { 10| 4

The Spearman rank correlation coefficient is .
(A)0.80 (B)0.85 (C)0.90 (D)0.95 (E)None of the above
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6. The Wilcoxon test was used on 16 pairs of data. The total of the ranks (D)
were computed to be 76 (for + ranks) and 60 (for - ranks). Calculate the Z
value that would be used with this. '

(A)-0.41 (B)-0.02 (C)0.02 (D)16 (E)None ofthe above.
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E(T)= J ;=68
v(T)= n(n+12)£2n+1)=16><17><33:374
-E(T) 60-68
z= = =-0.413
(T) 374
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8. Performance records for 18 salespersons are selected to investigate whether
compensation methods are a significant motivational factor.

Compensation Method Sales
Straight Salary 18112222828
Straight Commission |27 [34[34§27(20116124
Salary plus Commission| 11 |17 2714|3022
A Kruskal-Wallis test is to be performed with o= 0.01. The cou:lc}usion is to

(A) reject the null hypothesis
(B) reject the alternate hypothesis
(C) do not reject the null hypothesis

(D) do no reject the alternate hypothesis
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Wilson 84 76 T7H 64 92 65
Ross 83 81 74 76 94
Anderson 175 81 52 B7 83
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